Bt B A1 FH B

1 KBEOF—IL, ADFR—ILEORDBIE

EERHE
BAF I8 3 A 0D 44 P Az |FIABRHE iz -> %) i &
A 1 A 520 M
it & 1 A 210 H
BEae 1 & 310 H
B AL 1 & 210 M (& LR 254
R 1 100 [ |#a ETRBT 254
oy M I RZA R 1 100 M
TEZEH A1 1 100 M
fRfdE ik m e 1 A 100 [
78 kB 1 & 100 M
A KT KBox—n) | 1 & 160 M |[A—>=2r5y b
fRfEE B 1 A 210 M
=7 A7y b kBor—1) | — = 4,190 H
% et ko H—L FEosE) | — 2 5,240 [ |R R e
A H (Ko R—L) | — = 1,050 H
LA (KBoF—r) | 1 W 1,570 M
EHA (kKo F—L Ao —)| 1 # 100
R AR [ KBoR—L A or—)| 1 K 100 [
FriEGE v b CkpoA—n) | — 2 5,240 1 [FET PRI AEREDEE,
A=A NT7HEEY b KBor—1) | — =& 6,290 I E ii?z@%kﬁjggx
2y b
R AEIE (KEoH—1) | — =& 2,100 M
HE L (KEFoA—) | 1 K 210 M
B~ (KoA—1) | 1 8E 1,570 M |A&
HA3 970 (Ko A—1) | 1 K 520 M
NL—3— | (Ko H—1) | — =K 2,100 M
Hox—nr) | — & 1,050 [
FHIE (R) (kot—1) | 1 210 M
L TX () KBox—n) | 1 #& 160
L X () (KByoFR—1) | 1 100 [
Tl T hAE R I 210 M




Bt a8 B3 Qi D44 P

N

E
=

FIREH: (- %)

(T

~A skt t (KA —1) | — K 5,240 [ |k, ~4 v aky (2%
VRAD) 2k BT TR
(Aox—n) | — =K 3,140 [ [i~A 27 1A0Ey b
PLF G E (KO AR—L) | — X 4,190 M lgn7F e 2 fl~a 21k
Aox—n) | — X 2,620 M M
~A U aRy 1A 1,050 [ |J1X00 ZA7 sy
~A AR AK R IRVN 100 F [m I - 5 b5
ZROD VA 7R AEE (kpos—1) | — K 1,050 [ |~+27akrzaEmn,
HEy b T vF kBos—rAxzHor—v| 1 A 1,050 [ |7—7%&E70,
=T ]\$4X7(jzcégﬁf_jbmiﬂmﬁ_w) 1 B 1,050 H [mv2 vFuzrzgein,
BEA IRk ) A B —h— I 1,050 H
BEAT — VA= — (KBOF— L RO 1 & 1,050 H
BEVHA A A —H— Hox—w) |1 A 1,050
FRBA R
AP I8, ¢ i 0D 44 B HAL |FIHEHE QElizox) (T
REARIEA L v b (KD AE—L) | — X 1,570 M
AR B >~ k (KB A—1) | — K 8,380 M |maeazpist » ~EHeE
RRIIER(H C & v b ko F—A) | — 2 20,950 1 |
RARIED & v b (KD AE—L) | — X 29,330 H
7y F7A4 b (KBFDF—1) | 1 F) 1,050
RN—F—F4 (KDoA —1) | 1 H 1,050 H
n7—HRY Y T A N (KBods—L) | 1 5] 2,100 [
(Hox—n) [ 1 % 1,050 M
TyR—=RIY T4 b (KBoF—L) | 1 F 3,140 H
F7 o R—=FRY Y b TA b RBOA—)| 1 F 2,100 1
J B —ARy hTA b 1 & 210 M
AT FVTF 4= B —ZAv Ry b IA M 1 & 210 M
ARy bT7A4~ (1%Fv7 v bR 1 & 210 M
(1%e9y b8l EL 550y ki) | 1 & 310 M
(1.5%uvy FLE) 1 B 420 M
B —ARYy FTA N (KPoFs—1) | 1 7 2,100 M |7 &/~
(Hok—n) |1 & 1,050 H [~mro




Bt I B i 0> 44 TR HAL | FAEME Elcox) I =
TEVEIIC L Gmos—AxgAos—m)| 1 A 1,050 [ [ses. %%, iz s,
KHAFZ A K (kBoFr—n) | 1 R 1,570 M
INSTZA NS Kom—L A OF—L) 1 & 520 M
W< KoF—AXFAOE—| 1 & 520 [
<I)LF A bR (KBos—AXEA0R—L| 1 & 520
AT —T <Yy (KBOoF—AXEAOF—M| 1 & 520 M
T —h— KBoA—L A= 1 & 630 [

MIAA A Z R 1 A 100 M [HbiinsBeEmoss
HNT—T LIV H— 1 K 50 1
BHABREEY b (RBDOF—L)
£ FR FIRBHE (1mEIcHox) N 7
. EE EOMARIEERNAE (F— - FE_ARA—¥—74
At vk 1,570 H N T
TN ER AT 5 o Y — MRS R
Btv K 8,380 H |74, 72 b A FRTA R, =V TTA b,
v —2ARy bTA FDEY )
K, KRS, BHSFEORAFH (B— - _F—
H—F4 ]\ BB A a3 TA4 b, 7
Ctvhk 20,950 1 |g> kP A RKITAL b, =V TTA b, BUHE—R
RNy 8TFA DM, ToNRX—=FKRI IS TFA F, BT —7K
VYU b T4 DY )
HERAH (B R—X—F4 b, F—05LHEN
PAR v arIA b, BEFAXa s TA b,
DEv k 29,330 [ |[Z7mrY b A RITA R, =V TTA b, BUH—
ARy hTA R T o= R UV kT4 b, mT—
RV RIA R, P—ALENLTAL FDEY I)
Z DAt
b I 5% i 0> 44 R BLL (FIREMHE (Rl %) 4 =z
“u 93:757““ (KBBDOR—=NVUIHA OFE—1) — 5( 10, 480 l:q 20— EET,
A7 )= (KBoFE—L) | — K 2,100 M
(HAox—n) | — K 1,050 H
T —T7 Hox—n) [ 1 & 310
FrbiA a3 AR 130, 100 [ (3557 PR, e




2 HEBRUOSEHBRE

Wi IR A A D44 B B | FRRE: (Ele - ) i B
WNRT e s B — (&% )| — X 3,140 M (22 V—vaGis,
AT A FBGH (2= )| — KX 3,140 M (»27 V) —vagi,
AY Y = (== ) [ — X 520 H
R HiA 2 LB 13, 100y LTy MR e
3 ZOfh
BRI R D 0D 44 Bk AL | FIARRE (Elic > ) 5 B
ayY—rTT7 U FET ) 1 A 10,480 H |##ktzE £20,
(AFA 2 TTAD-274) (KBOF—L)
ayY—rIT7RET ) (=B Y1 & 7,330 H |[#HEEEE £,
Try—amETTN225) (HOA—L)
ayY—rTT7 U RET 1 & 5,240 ] [Fafrtz & xiev,
(Y~CFII-S) (#HE=E1)
TvTIANET ) 1 & 2,100 H [Faertz & xien,
(AX Ay AV-125) (ffiE=2)
TG NET ) 1 & 1,050 [ |FAtktza £z,
(= \UX-500) (f#E=3)
Ba) R S x L 1 # 50 M |1 A% 1EELCHE
BARHARY 874 b 1 & 50 M |1 A% 1mEE LTRE

(fig %)

1 ZORIZEDHAMAEHET, PRl FESUIEFORMX2ICB T 22 of iz %

nEN1EE LTEET S,

2 FIEHEIZIE, M TR TBEE LBHIZ EN 20 b D & T 5,




